B4 0EILEEERAERSFERH K

(& PR OGN, AT BARSREHIESIR)

[ ol Tl H FRAH | 5 | = B | | B0 | A [ 4 ol i H (el AR arERia el
AR T IKER 1 FR3X 40 2
1 |Akik LT KEK 1 WA T |FREOPR 4
DAL TFARFA IR IS 3 AP60 1
PR T 2 R340 3
g — 7T 2 PR LT ARGOW 3
DER T 2 21 |7 A 7 Vs AP6OW 1
- BT 7 4 AR60] 4
PRAE AT 2 DR T BR60J 2
e w;/i—g« THT 2 BP60J 2
T NATIN 2 WA T BR60W ] 2
EFHOE 7 4 KL 2 BP60OW] 1
PRAE AT BT INAI N 1 AT 1
YU T AN 2 22 |filiE AR 1
—h HFOET 4 RAT N 2 AR 1
AR BT NRI 2 AR T 1
ST NAIN 2 23 |77 =Ty Mk -l =T 1
RFOE I+ FALT L 2 DIEGF 1
DAL BT INAI N 1 RRAE&F 1
ST NAT N 3 24 | AR—=Y 7 T4 IV T | ERT 2
AR T 1 AT 2
~ FRAFA T 1 27y kKL (svsrt ) 2
e DERT- 1 R N T ) 2
DAL 1 27y vk |KL (vt 2
HeAE S 2 S N e ) 1
A FRAFE 4 F- 1 K-1 (ropv00 i) 3
DIEG T 2 K2 (4197~ 7) 1
WERF |6 2 VA AN 1
PRI WAL |6 1 C-1 (W7 4729707 W) 3
DR 6 Al 2 25 |1 X— C-2 (W7 470~ 7) 1
DAL T [Nl 2 27y vk (K1 (vt n) 2
WAES T |Bi 2 DL 2 (I~ 7) 1
FRAE AT %5 1 A50mh - K-1 (AFu-=bbtysv)° b) 2 3 4 ® | O 5
IR f 553 4 UAND YA=F=  |C-1 (RFm-btt7 4770 ) 1 (O] 3 2 | RsM|ABMm
32 DT | 4 L B Fee—"— 1 |Fzml 4 3 2 | @
AT | Bk 3 Py K-1 (RFm-=hbry 2 W) 2 @ | 3 | @ |xsm|wEsm
v | b LY L 9 DANE Ji=F= |C-1 (RFu-bbF 470000 ) 1 @ |Fsm| 2 |[KzW|Fsm
wiewisem) | T LR Y v 2 BRPE K1 (AWK 9490 92920° W) 1 Rem|Rem| Reml 2 [©)
PRAES T 2 AR F 2
RIVES g Lk 2 9% |7F—Fey— [EEL 2
WIEBT 2 DERT- 1
DA 2 DA 1
v WY TT T |RERT %1 7 AR T LA PN 2
AR S 2 97 |% . | R LA IN 2
N R AT 2 Mri'éﬂ DERT RN 2
AR 1 R samAON 2
DAL T 1 28 | 7 L —H5 JRAE 2% — k 3
FRAFA - 2 29 |7p &Eipie s LG 3
VT RT=A ST 2 RS T 3
DA 2 I AT 2
PRAES T 2 DR 2
FLER DIERT 3 AT 2
DAL T 2 31 |97 DER T 3
RCEFER FRAE S - 3 /i 96
‘il 2053155 X2 24 ARENFH (V=g PV T7T 407 BIFAESEER) 225 3 0 2 1 2
il i R e 1
PRAE AT 1
ENDIY S DA 1
DAL T 2
i s 1 OU=A M) TT 1 2 T HERERNT JEfLIC k%)
DIERT 1 | mEsr | 7 J ol ol ol o o
WA T 1 1) ARSHEETFEEATAL LGHE
N PRAELL T 1
g = | O BRI (R AN X 5)
DAL T 1 e] 9
FRAE S 2 K& 7
SNEIv b ERT 3 b 8
DAL 2 ol 24 0 0 0 0 0
WA T 3 ¥ 2) ARDMYNRFH A FH L LI
=i PR 2
PR T 2
A 2 e X e |8 | BB | & 3B Al
N (VoA 0 7747 A ERO | 120 | 0] 0 ] 0] 0] 0 TR RS 256
<BE> 1 it 20 1| 1] 2
2 (i 1 0 1 0 0
3 {imim 0 0 0 0 0
ERAGRGEY 0 0 0 0 0
5 {irimim ¥k 0 0 0 0 0
A (%) 3 0 2 1 2
%) v=A NV 7T 4 7 BINA B Z R

BRI ERAEE RS




